Short Division Worksheet. The Bus Stop Method Solutions.

This means you should not have a

NB: An integer is a whole number.
remainder or decimal to calculate!

1. For the following questions the solution should be an integer.

3 8 126 248 1247

2 af152 n 6[756 o 3[744a 9 3 (3741
5241 25783
° 6[314456 : 4103132

2. For the following questions you may have a remainder.

) 256r1 b) 361r2 637r3
3[7609 7[25209 8 |500909

d) 9 25r7 e) 742 6r3
g8|7407 537133

3. For the following questions find you answer to one decimal place.

Therefore 1411.2 (1dp)

a) 502 4 b) 1411.16..
0] 6|846 7.0 0

Therefore 1163.7 (1 dp)




